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Innypwsurthp uwhuwinjud
Skoike /uwhdwtijué opkpny/ npnypwsuthbpp /22
npudny/
2 3 4
SIIRLRE
1) hhttwjuit pkpkph b pghtimpnitintph hunfwp
Eouhwsht phwuguypnid Uhtish 300 punwniuh Uknp phighwbnip
Uwltipku nitkgnn withunnwlub pwlybh, wn pynd® 45 000
uyglignpswjuit (wlwnwinguyht) wikph, hsuku twb dhigh 200 /pumnuuntthhiq hwqup/
punuyniuh dkwinp piphwtnip dwljkpbu ntkgny hwuwpuywiui b
wpununpuiub bpwbwlnipyub pkuptph b ohtinipmitttph hundwp,
12-p hnrpJwish 4-py Uwuh hwdwdug 15000 22 ppud vwhutwbjws
Zulwyuph Jupswub npnypusuthp hwpyuiply) 3 gnpdwligh Yhpundwdp
nwpwopnid Nulykhunn phuwyuypnid hiigh 300 punwyniuh dknp pighwinig
dwpunwpuyinwphiwpupuljut | wlkpbu mikgng wthunwlwb pwllih, wyy pynud® 22500
twhiugsht hutuyunnuuput® | uyghgnpswlub (wiwpwbngugh) nlkph, hiywtu tub dhish 200 /puwiibpynt hwquip hhg
hunfwjiph Jupsuljut punuiniuh Ukinp pughwinp dwlbpbu mtgnn hwuwwpuulwi b hwpynip/
nwpwdpnid unp oklipkiph, wpinunpuljmb bpwhwlnpjub pkipkph b phtimpiniitikph hudwp,

ohtmpnitiitph b ny hhdbwjub
ohtnipimiuttph phtiupuipnipjui
(nknunpuul) (pugwunniejundp
Zuyuunwbh 2ubipuy nnpyut
optiunpnipjulp vwhdwinfws
ohttwpuipmpjul poypundnipni
swwhwbgnn ntuptph)
poypnynipjui hunlup

12-pn hnmjwdh 4-pry dwuh hwdwduyh 15000 22 ppud vwhdwi]ws
ppnypuuithp hwpquplil) 05 gnpdwlgh Yhpumbundp

2) umjb hEwnh «u Eipwhtnny shwunbugws opkinikph hunfup

Eouhwdht phwlwjuypnud 200-hg vhligh 500 punwlniuh dkwnp
punhwimp dwykpbu nmukgnn gkupkph b phtntpniutkph hwdwp®

Epkunit hwquip gpund. g

12-pn hnjwsh 4-pyy dwuh hwdwduyh uwhdwijws npniypusuthp Apimielel Batpaly
huwipquiplyly 1,7 gnpdurlgh Yhpuntunp

Nuijthun phwljujuypnud 200-hg uhtgh 500 pwnwilniuh Ukwnp

pughwinip dwlkpbu nitikgng okuptph b phtimipejmbtkph hunlwp® 45000

Epkuntt hwquip npud, / Kl b /
12-pn hnnpjwsh 4-py dwup hulwadwyl 30000 22 gpuid uwhdwqus i e et
npnypusunthp hwpqupyly 0,5 gnpdurlgh Yhpundundp

Eouhwsht pwluuypnud 500-hg uhlist 1000 pwnuiljniuh dkwnp

Rughwinip dwljkptu nilikgnn okupkph ohtmipnittiph hwdwp 100 000

hhuntt hwquip gpund. /b h

12-pn hnypjwsh 4-pn dwup huwdwdwyt vwhdwi]ws nnnijpuisuithp s s Logn o
hwpquiplyly 2 gnpdwligh Yhpumbundp

Nuijthun ptwlujuypnid 500-hg uhtyl 1000 puwnwlniuh Ukwnp

punhwimp dwhkpku niikgnn 2Gupkph b ghumpnibtkph hulwp® 75 000

hhunit hwquip gpud,

12-pny hopfwsh 4-pry dwuh hunfwdwyt 50000 22 gpuad wahdwius | PPREwuntihhg huqup/
gpoypussuithp hwpquipl 05 gnpéulgh Yhpuntundp

Eguhwsht phwljunfuypmd 1000-hg dhish 3000 punwlniup Ukinp

plghwimp dwlbpbu niubgnn pkupbph b phtnipinihbph hwlwp’ 150 000

hhunmb hwqup ppud. /hupnip hhunt hwqup/
12-pn hnpwsh 4-py Ywuh hudwduyh vwhdwin]ws nnnipusuithp

hwpywiplk) 3 gnpdulgh Yhpwniundp

(ujthun pwujuypnid 1000-hg dhish 3000 punwlniup Ubwnp

pughwiinip dwhbpbu niitkgnn oklipkph b ohtmpmuttph hwdwp' 75 000

hhuntt hwquip gpud, / & tthhiiq b
12-py hnnfwidh 4-pry dwuh hunfwduwgt 50000 22 ppunt wuhiwlyus | PP@RWLEhhug huqup/
gpovjpuisuthp hupqwpyly 05 gnpdwlgh Yhpumbundp

Eguhwdhi phuljunfuypnud 3000-hg b unfjh punwlniuh dknp

plhwimip dwlpbu niiikgnn pktipkiph b phtimpyniatkph hudwp’ 300 000
hwpymp hwqup gpuad. /&pkp hwpynip hwqup/

12-pny hnpjwsh 4-py dwuh hundwduyt nvwhiwin]ws npnypusuithp
hwpqwinyt) 3 gnpdulgh Yhpwntundp

Quljkhunn pru]uypnid 3000-hg b wikh pwnwilniuh Uk




plnhwnip dwlbpku nilikgnn pkbiptiph b phinipeimibiukph hudwp! 150 000
hwpnip hwqup gpud, /hwipynip hhunit hwqup/
12-pn hnnpJwsh 4-pyy dwuh hudwdwyg 100000 22 gpwd
uwhywijws gpnypuywihp hwoguplly 0,5 gnpdulgh Yhpundwdp
3) ny hhtwljuib phtimpemutkph whqunpiwi hwdwp®
Eguhwsht phuujuypnid Uhtish 20 punwynuh dknp pighwing
Uwytptu mubkgnn pkuptph b phtimpniiubph hwdwp® kpkp hwqup 9000
npud, 12-py hnpwsh 4-py dwuh hudwdug vwhdwinfws /hip hmqup/
nupuswthp hwpquipyl) 3 gnpdwiligh Yhpumiundp
Nulthun phmljufuypnid thigh 20 punwlniuh dknp pughwbing
Uwltpbu mubkgnn okuptph b ghtimpymbtbph hunfwp' kpkp hwqup 4500
npud, /snpu hwquip hhiig
12-pn hnpwish 4-py Uwuh hwdwduygh 3000 22 ppud uwhdwinjus hwpnip/
njpusunhp hwpquplk) 0,5 gnpdurlgh Yhpundundp
Eouhwdht piwunfuypnid 20 b un]kjh punwyniuh dknp
punhwimp dwhkptu niiikgnn okptph b phtntpynittkph hwdwp® 15000
hhtiq hwquip npwd, 12-pry hnwsh 4-pn dwuh hwdwdwgi /nwuutthhiq hwquip/
uwhiwijws gpnypuswithp hwpyuplil) 3 gnpdwiligh Yhpundundp
Nuljthwn phwfufuypnid 20 b unjbjh punwlniuh Uknp
pughwimp dwljptu niikgng pktipkph b ghimpyniuttkph hunfwp®
hhtig hwquip gpund h 7120?1 h
12-py hongfwish 4-pry wuh hudwdugh 5000 22 gpund vwhdwtyws | /P Bwqup hhiig hupgnip/
gpoyputsuithn hwpquplty 0,5 gnpéulgh Yhpuntundp
1) Eguhwdht phwljunfuypnid sh twhunnbugnud Yguljunnyglibph,
Yptwunnyghtiph, okliph quipwphuught swihbipt plmguying wy
Junnygitph (uyg pynid” winnpglnbyw) hknbwipny opykljnh 9000
pughwimp dwlkpbuh wbpugnd jund pkiptph gnpdunwlui /hup hwquip/
pwhwlnipjulh hnthnjunipit’ Epkp hwquip ppund.
12-pn hnnpwish 4-py dwuh hudwdwgh vwhdwigws nnnipusuithp
Zunfuybph Jupsuljut huipuply 3 gpdwligh Yhpumbunty
wnwnpwspnid gnjnipinih niikgnn
oblipkph U phtmpymibph Nujkhunn phwujuypnid sh iwhunnbuynd Ygulunnygbph,
Ybpulunmgiu, Ytptwunnygubph, okiph qupuiphnught swhbpb plnguyinng wy
Jhpulubginfiul, mdtqugiut, Jurnygubph (wyn pynid” uwinnpglniym) hknbubpng opjkljnnp 4500
wpphuluigiut b pughwimip dwljptuh wbpugnud jund pkiptph gnpdwnwlui /snpu hwquip hhiig
pupkiupguul wohunubpltph pwbmlnipjul thnthnjumpinit pkp hwqup gpud hwupnip/

(pugunnipjunip Zujmuwnwith
Zwbpuyiinmpyub
opktunpnipjulp vwhdwijws
2httwpupmipyul poypaynipmi
swuthwigynn nhwyptph)
poyunynipjub hunfwp, kpk
uwhlwinfws Jupgny
huwununyus

Swpuupuy binwohtwpwpuljui
twhiwugsny®

12-p hnypwish 4-pyy Ywuh hudwauy 3000 22 gpuad uwhdwifws
qpoypusuithp hwpgwipll) 0,5 gnpsuligh Yhpwniundp

2) pugh oklpkph b phimpinibiubph YEpuunnigiwi, nidhnugdul,
Yipuiuigiiwl  jud  wpphulwbugduh wpluunuiplibiphg,
twiunntudnud £ iwb Ygulunnygtph, YEptuljunnygubph, okliph
wnpunfuuthught sunhbpb plnuying wy Yuenyghbph (wpy o
wnnpglntyu) - htwnbwbpny  opijnh  pinhwinp  dwlkpkuh
wfbjugnud - Jund  pkupkph  gnpdunwljwmb  pwhwynipyuh
thnhnjumpimi, b pugh unyb Ynh «ao bipwlbnng] uwhdwi]us
npnypusunthh,

Yhpunynud kb twlb tnp
ohttwpwpmput  hulwp

unytt  huwbpjush  1-ht
Yhwnny uwhuwfus
unputpp i1
npnypuwswthbpp /pun
Eothwsht U Aulkhun
puwyunjuyptph

uwhdwmdubkph/*

okuptph b ohtimpnitkph
punhwinip dwltipkup
wykjugdwt jund pkipkph

qnpdunuljub

tpwhwlnipyuh

thnthnjunipyub dwuny.

opkiph  hdwuwnny,

3) bwhiumnbkuynid | dhwyh Yguljunnygubph, YEptwljuenyghtph, ujt hwdwpynud £ tnp
2kuph quipwphinught suhbpt playwytng wy Yuenygitph (wyy chtwpwpmpymb,  nph
pynud” wnnpglntyw) shtiwpupmpni Yud pkpkph ujuindudp Yhpunymid L
gnpdunuljul bpwhwlmpjuh hnthnunpinti, wuju unp ohttwpupmpjut

hudwp unyt hun]bgwush
1-ht Yhwnn] vwhdwifws

unputpp i1
npnypusuithipp /pun
Eouhwshtt b Nuthun
puwfunfuyptiph

uwhdwmutbph/:




Zunfwyph Jupswljub
nupwspnid okliptiph,
ohtmpniuitph b
puupuphiwlub wy|
opjkljnutph puwlimlul
(pugunnipjunlp Zujuuinuwith
Zwbipuy kinnpyuh
opktunpnipjulp  uwhdwbfws
puwbiplwt pnypnynipnil
swuthwigynn ntuptnph)
poyjunynipnil hunfwp'

hhltiq hwquip gpud.

5000
/hhiq hwqup/ npud

Junupowujuin hulwyuph
Jupywlulb nupuspmd opktipny
L wy  hpujwliub  wlnkpny]
uwhdwijud uuthwbgbtinp
Pujupwpng 1guynpuiw
mipwpwbymp juyubnid htnniy
Juntghph Jwéumnph
poyjuynipju hwdwp

opuigniguyhtt nupyu hunfwp' Eplynt hwipnip hwquip gpud.

200 000
/&pynt hwpnip hwqup/

4.1

Zudwgiph qupsuljui
wnwpwdpnid opklipny b wyy
hpuulut whnkpn
uwhdwi]wd yuhwbetpp
Pujwpupnn gunjnpiut
jnipupwibiginip Juywbnud
ubnuyws puljut quqh
Jw&wnph poypnynipjut hwdwp'

Eouhwsht punupnid opugniguyht nwpdw hunIulp‘ Eplynu
hwupjmp hwquip ppund.
12-py hnmjwsh 3-pyy dwuh hudwdwyh vwhdwinws npoypwswthp
huwizduiplty 1,5 gnpdugh Yhpumbundp

300 000
/Epkp huipmp hmqup/

Nulthunn phuljuyuypnid opugmguyht tupw hundwp Eplynu
hwipjnip hwquip gpud

200 000
/Epynt hwpynip hwqup/

4.2

Zurdujiph Juipswlub
wnwpwdpnid opkipny b wyy
hpunulput whntpng
uwhdwinfwd yuhwiehtpp
pujwpupnn jgunjnpuul
mipupuibginip juywbnud
hinmjugqus bupuyhb fud
wodhiugpwsliught quqkph
Jw&wnph poypnynipjuh hudwp'

Eguhwsht punwpnid opugniguyht tnupyw hundwp kplynt
hupnip huquip npud, 12-py hnpwish 3-py dwuh hwdwduyi
uwhiwinfws npnypwsuthp hwpywpyk) 1,5 gnpdulgh Yhpumbundp

300 000
/pkp hwipnip hwqup/

Nujthwn pufufuypnid opugniguyhi tnwpyw hunIulp‘ EplynL
hwipnip hwquip gpud

200 000
/&pynt hwipynip hmquip/

Jwnupowujwn hwuwyph
Jupswlul nupuspnid quninjnn
uwtmpubpnud,  Ypwywlukpnd,
htnmy Junkihph jud wbnijus
piwub  Jud  hgmyugjus
twypuht jud wsumepushughic
quqtph  dwbpwédwpn  wnlnph
Ytwntpnud, ujunnpjugduh
Ytwntpnud, wjunnutpkiwbtph
wnkthjuul wyuwuwpiuwt b
unpnguwi Swnuynipjuh
opjjunttpnid  minkuw]upnnh
qnpoénibknipjutt  mupupwitynip
Juypnud nbkthjuljut
htnnijutph Judwnph
poyuynipyui hwdwp

opwgniguijht nwpyu hunfwp®’ Jupuntt hwqup gpud.

60 000
Mupumb huqup/

Jwnwppuujuin hurfuyiph
Jupswlub wnwpwspnid
pwtljupdtp Ukwnuntiphg
wunpuunywd  hpkph npnpwljh
Juypnud  dwbpwdwjn wnp m
Juw&wnp hpujuiumghtn
poynmpjui hwdwp

opwugniguhtt mupyw hundwip' hhunth hwqu wid.
pugniguy) i n quip nn

50 000
/hhunit hwiqup/

1) nglithg b wyynhnjuyhtt fadhsph Jwdwnph pnyjunipymb hwdup, Jnipupuiiignip

Enwdujulh hwdwp

Eguhwdhi phwljuguypnud thiish 26 punwlniuh Ubwnp pinhwbnip
Uwljtptu nitignn hhlwlwi b ng hhtbwlub 2htmpmiuttph
Ukpunid Juwdwnph Yuquulkpudwb phypnud’ byl vnwu hwquip
Ukl npud.

10 000
/inwuu hwquip/

Nubthwwn phwlufuypnid thish 26 punwljniuh Ukinp pinhwbnip
Uwljpku nitkgnn hhdbwluh b ny hhutwfub phtimpinitiukph
Ubipunid Judwnph Yuquwlbpupdui ghypnd’ uhtsh nwu hwqup

5000
/hhtiq hmqup/




Zuduyiph Jupswluh
wnwpwspnid nqlijhg b
wynhnjuyht fnthsptiph ud
onkipm] uwhdwbyws
uwhlwbwthwlymutpht
hudwyuwnuuimt
Shawfununugh
wpnunpunbuwljubph jud
Shawfununuyghu
wpununpuntuwlutph
thnfuwphuhstitph Yurd
Shiwfunuught
wpunugpunkuwltkph
wlwwljubph Judwnph
poynynipejub hwdwp®

Ukl gpund

Eouhwdht piwfjuuypnid 26-hg thtish 50 punwiyniup dknp

punhwimp dwhkpku nikgnn hhlwljwi b ng hhdbwlwi 13 000
2himpnititkph tkpunid Jugwnph juquulbpydwi ghyponad’ /nuutkplp hwqup/
iy hwquip Uk npudhg dptish nmuubkpbp hwqup UkY gpud

Nuljthunn phwfwduypnid 26-hg thtish 50 punwyniup Uknp

punhwimp dwykpbu niikgnn hhutwljw b ny hhdbwlwi

2humpmiutph tkpunid Judwnph juquultpuydwi ghypnd’ 7500

wnuu hwqup UkY gpunthg thigh wuubkptp hwqup Uk ppud, /mp hwqup hhtiq hupynip/
10000 2z npunth bundundp Yhpwnk) 12-pn hopfwsh 2-py dwung

uwhdwijws 0,75 gnpdwiljhgp

Eouhwahi pruljur]uypnid 50-hg whiigh 100 punwyniuh dknp

punhwimp dwhkptu mukgnn hhtwmljwi b ny hhdiwlwi 20 000

2himpmititkph tkpunid Judwnph juquulbpydui phoypnd’
wnwubbplp hwquip Uty gpudhg dhigh puwi hwquip dky gpuad.

/puwit hwqup/

Nuljthunn pwljwuypnid 50-hg htsk 100 punwlyniup Ubkwnp
pughwimp dwlpku niikigng hhdwlwi b ng hhtbwlwi
2humpnititph tkpunud Judwnph juquuljpudul nhuypnud’
wnwubbptp hwquip Uk npuithg dhish pumb hwqup kY npud,
nph Wjundwidp Yhpwnk) 12-pn hngdush 2-pr Uwuny nwhdwi]ws
20 00022 nputh uhundwidp Yhpwpynud k0,5 gnpdwljhgp.

10000
/inwuu hwqup/

Eguhwdht  puwujuypnid 100-hg vhigh 200 punwlhniup ubwnp
pughwimp  Jwlbpbu nmbkgng hpdbwliwi & ny  hhdbwlwi
2humpimbutph thpunid Juiwnph  Yuquwybpuyduh nhuypnud’
puwlb hwquip ¥kY npuidthg Uhish pumbhhiiq hwquip UkY npund.
12-py hogjwsh 3-py dwuh hwdwdugs 20 000 22 npud
gpnypuswithp hwpquipliy 1,5 gnpsuilgh Yhpundundp

30 000
/Eplunt hwqup/

Qujthun - pwluuypmid 100-hg vhigh 200 punwlniup Ubwnp
pughwbimp  Jwlbpbu mbkgny hpdbwiwi & ny  hhdbwlwi
2htimpymuubph tbpunid Jugwnph Yuquulbpuduh nhupmid’
puwl hwquip ¥y npudhg uhgh puwbhhiig hwquip UkY npud

20001
/puwtt hwquup UkY/

Jwnuppuuyun hudugpnud 200-hg thish 500 pumnwljniup dkwnp

pughwimp  dwlbpbu mbkgny hhlbwlui b ny hhdtwmfub

2humpmbubtph tkpumd Jw&wnph Juquwhkpupdwi nhuypnud’

puwthhig hwquip Uk nputhg dhiish punwuniithhg hwqup Ukl
.

45 000
/punwuntthhiq hwquip/

Hunuppuwujun hudwybipnid 500 b wnbjh pwnwlniuh Ukwnp

punhwimp  dwhbpbu mbkgnny hhttwlut ny hhdtufub

2humpinittbph  tkpunud  Jw&wnph Juquuypupdwh  phwypnud

punwunithhtiq hwqup UkYy ngpundhg dhigh  hwpynip Ukl hwqup
.

60 000
AJupuntt hwqup/

2) opkipny] uwhuwijws vwhuwbuhwlnidbphi hunfwyuwinwujumb Shwunwnughi
wpununpunbuwlikph jud Shwuninughtt wpunumpunbuwlibph thnpowphthsibph jud
Shiwfuninuyhtt wpnunpuntuwykph wlwbwlitph Judwnph poypnynipyui hunfwp®

jnipupwiyinin kpwdujuljh hwdwp®

Bouhwdht  phwluduypnud  dhish 26 puwnwljniuh  Ukwp 10000
pughwimp  dwlbpbu mbkgny hhttwlub U ny hlu[hulllul'q e Tt/
2htumpmbuttph tbpumd Ju&wnph Guquwhbpupiwi nhwypnid 4
uhtsh viwup hwqup Uk ppud.

Nuijthwn  phwuduypmd  dhigh 26 punwlmuh  Jdkwnp
pughwimp  Jwlbpbu mbkgnn hhdtwlui b ny hhdtwlwl 5000
2humpmititbph  Gkpumd  Jwdwnph Juquultpuyduit  phypnod’ /hhtq hwqup/
uhtish wnwup hwquip Uk ppud
Eouhwdht phwljur]uypnud 26-hg hish 50 punwiljniuh dkwnp 13000
punhwbinip dwlbptu mkgnn hhultwlwh b ny hhlwlwl i Anurabibptp huqup/
2htimpymuutph tkpund Judwnph Yuquulbpupui ntujpnid
wnwup hwquip kY ppunthg dhish waitkpkp hwqup Ukl npud.

Nulythunn pwlju]wypnud 26-hg Uhish 50 pwnuiljniuh dkwnp
pughwimp dwljkpbu mtgny hhdiwlwb b ny hhltwlwuh
2hmipniutbph tkpunid qugwnph Juquuljkpupdwi nhypnid’ 7500
wnwup hwquip UkY npunthg dhigh wuubikpp hwqup Ukl npund, /mp hwqup hhiig hwpynip/
10000 22 npunth wunndwilp Yhpunk) 12-pn hngjush 2-pn dwuny
uwhuwbjws 0,75 gnpdwlhgp
Eouhwdht  phwfujuypnud 50-hg Uhish 100 punwyniuh dkwnp
pighwimp  dwlbpbu mbkgny hhdbwlui b ny  hhdtwlul 25 500
2humpmititbph  Gkpumd Judwnph Juquuljtpudwi  ghypnid’ /puwitthhiq hwquip hhlig
nuubikptip hwquip Uk gpudhg dhtish puwb hwqup Uty npuad. huipynip/
12-py  hnppjwsh  3-py Umuh  hwdwduwgh 17000 22 ppud
nypuswithp hwpyunplyly 1,5 gnpdwlgh Yhpundundp
Quthunn plwfwuypnud 50-hg vpiish 100 puwnwiljniuh Ubkwp 12 000




pughwimp  dwlbptu nibkgnn hpdbwlwi b ny  hhdbwlub /nuutkpynt hwqup/
ohtmipinittbph  ubpumd Jw&weph Yuquulbkpuydwul nhypnud’
nuubikptp hwqup kY gpudhg dhiish puwb hwqup Uy gpuad,
16000 22 npunfh tunnbundp Yhpunt) 12-py hoppjwsh 2-py dwuny
uwhuwijws 0,75 gnpduiljhgp
Eguhwsht  phufwyuypnid 100-hg vhtish 200 puwnwyniuh Ubkwp
punhwimp  Jdwhbpbu mbkgnn hhdbwlwh o ny h]jn[huﬂluﬂ{ 30 000
2humpimbtbph tkpund Ju&wnph Yuquwhkpudut  ghupnid /bpkunth haquip/
puwl hwqup Uty gpunthg vhtish puwithhiiq hwqup Uty npud.
12-pn  hnpjwdh 3-pp dwuh  hudwdugh 20000 22 ppud
nypusurthp hwaquiplk) 1,5 gnpdwlygh Yhpumbudp
(ujthun phufjunfuypnid 100-hg thbish 200 pwnwlniuh dknp
pughwimp  dwybpbu mbkgny hhdbwhui b ny hhltwfu 20001
2humpymbtbph bkpunid Jw&wnph Yuquulkpuyuwl ghygpniod’ /puwitt hmquip Ukly/
puwl hwiquip ¥kY npuilhg vhtish puwbhhiig hwquip Uky gpud
Hunuipuun hunfwypnd 200-hg vhigh 500 pupwyniuh IR
punhwtnip  dwlbpbu mbkgny  hhdbwlub ny h[uﬂlullluﬂ.} 45000
tnipjniitbph  Ghpunid Judwnph  Juquulbpudwi  nhupnid
fﬁmuﬁuq hu?c{lmp urliq I}_pmd:lhg upnlzlh li)mcrlzumlinlllllllllhhq hu?q:llllg | AssmncEhistg hudqup/
w.
Hwnuppugun . hunfwgipmd 500 b wjlyh  punwlmuh Utwnp
pughwimp  dwlbpbu mbkgny hhdbwhwi b ny hhlfhml]uli} 60 000
ohumpymuutph ubpunid Jugwnph Yuquulbpuydwh ghypnd At huqup/
pwnwuntthhiq hmqup Uty pputhg dhigh hwpynip hwqup gkl
npuu.
Junupowyun hwduwyipnid sunhYukph, wbyhubph, wdwbnpu unbwljunwupnipiniiiiph
hpujupwbulut whdwbg hufwp twhwntugws tnithukph b undhikph, eph, wy pynud® 350
wihwwn dkntwpluntpkpht hwupuyht, hmptph U qonjugmghy puwbihpubkph Puigopju /&ptp hwpmip hhuni/
huwlwyiph Jupsmiub wnlinniph ghypmd jmpupwignip opyu huwdwp' tpkp hwpynip
nwpuspnid «Unlnph b hhuntt gpud’ UEY pwnwiyniuh dtwnph hudwp.
dwnwynipjnitibph dwuhbs
Zujuutnubh Zwhpuy binnipjub yunuunuyh pugopjw wnlniph huypnud jnipupwbsnip opju 175
optpny vwhuwijwé pugopju huwlwp Yhpunty 12-py hngpfwsh 2-py dwuny wwhdwi]ws 0,5 /huipnip
wnlnph juquulkpuydul qnpdwlhgp npwbuuntthhiig/
Penyjnynipjul hudwp
1) wnlunph opjkljnubph hunfwp® hhq hwquphg Uhtish hhuniu 50 000
Junupouwun hwdwyuph | hwqup gpud. /hhunit hwquip/
Jupswljwl wwpwspnid welnph, | 2) hwtipuyht ubiinh b qlup&wiph opjkljnitph hwdwp® puwtthhliq 100 000
hwipughtt ubbnh, qJupdwbph, hwquiphg Uhtgh hwpnip hwquip gpud. /huipynip hwqup/
owhnuuny lawntph U | 3) punuhpbph (uwnitwikph) hudwp® phne hupymp hwquphg 100 000
Yh&whujuwnph Uhish  hhig hwpnip huquip gpuad, 200 000 22 puith Gwumtunip / hupnip hwquip/
Juquuykpyuwl  opjljnukphi, puink] 12-py hnypfwsh 2-py dwuny vwhdwin]ws 0,5 qnpduilihgp
foumunntibphl - puhplitpht | 4) jwnuintibph hunfup® hhig hwpynip huiquiphg dhigl Uky thihnt 1000 000
(uuniimbitpht) dundp  24.00-hg ud, AlEY Upphnty/
:E:ﬁzlu}ﬂ“mmhlm poynympuib | 5) 2whnuiny fiunbph hundwp® Epynt hwpip hhumb hwquiphg 500 000
B opwgnyguyhll wwpyw | yhigh hhtig hupgmi huqup gpud. /hhig hupgnip huqup/
Bl 6) yh&wlwluwnbph hwtdwp' hwpmp huquphg dhtgh  hupgoig 100 000
hhunitt hwqup ppud. /hwuipynip hwqup/
1) hhdtwywb phtimpniukph tkpunud’
Eouhwsht pwjun]uypnid dhigh 26 punwyniuh Uknp pinhwinip
Uwltpku niikgnn hwhpuyht uhiinh opjkljnp hunfwp' kphp hwquip 7500
npunthg Uhtigh hhig hwquip dkY gpud,
12-pny horpfwsh 3-pry dwuh hunfwdwh 5000 22 npunt gpoypuswdp | PP 0qup g hupyp/
huwpquplly 1,5 gnpdulgh Yhpumtunip
(lujkhunn phwujuypnud thtish 26 punwlniuh th}p punhwimp 5000
Uwljtptu nitikgnn hwipuyht uitinh opjlnh hudwp tpkp hwquip /hhia b
npwidhg vhtiyh hhiig hwquip Uk ppuad g Wekep/
Hunupyuujun hwdwgipmd 26-hg dhiish 50 punwiljniuh dhmp‘ 10000
plughwimp dwhtpbu nbkgny hwbpught wbingh opjtinh hudwp / h
hhtg hwquip UkYy gpunthg vhish nwu hwquip Uk ppuad. .
Hunuppuyun hwdwjipnud 50-hg dhish 100 punuiljniuh dhmn 15000
pughwimp dwhbpbu mukgny hwipught wbnh opjjnh hwdwp / tthhiq b
wnwu hwquip UEY npunthg vl nwuithhig hwqup Ukl ppud L
Hunuppuuyun hudwyipnd 100-hg uhtish 200 punwyniuh dhmn 20000
pughwimp dwltpbu nkgny hwbpught ubiingh opjtjnh hwdwp Jits B
nuithhtig hwqup UkY npunthg dhiyh puwl huquip vky gpuad. WG SO
huntwyuph Jupyului Aunupauuunn. hunfuglipnud 200-hg thiigh 500 punwlntuh knp 30 000
nupudpnud hwbpuyht ubtoh pughwbmp dwhpbu mukgny hwhpught ubtingh opjiljinh hundwp’ /Epkunits hwqup/
Juquultpuydwb b

puwb hwquip Uy npundhg dhtsh bpkuni hwquip kY gpud.




hpujubmguwi (hunfuyiph

10. | wjwqubim npnpdunip Junuppuyyuin - hudwyipmd 500 b wykih pwnwlniuh dhmn 50 000
uwhdwijus llulhnhiﬂzp]lh punhwinmp dwljpbu nbkgnn hwipughtt uigh opjkjinh hwdwp /hhumt huquip/
hunfwyyunuuuwh) tpkumb hwqup vk gputhg vhigh hhunt hwquap kY ppund.
ntnkuwjupnnh 2) ny hhlbwljw phimpyniph akpunud®
gqnpdnitttnipjul hudwp Eouhwsht phuuguypmu dhtish 26 punwlniup Ut punhwinip
wnwbdbwgws jnipupubiginip Uwliptu nitkgnny hwbipuyght wbitinh opykjunp hwdwp' hhtiq hwipmip 1500
Juypnud hwipuyhtt uitigh gpuithg vhigh hwquip kY gpud, 12-py hnpjwsh 3-pn dwup /huquip hhtiq hwpymp/
Juquultpydwh b hunfwdwyl 1000 22 npund ppopuswthp hwpyuipljty 1,5 gnpduygh
hpujutmgdwi pnypnnipjui Yhpuntunlp
. l?lhthll_jlh lﬁmp el Nuithun phwljuduypmud dhigh 26 punwlniup Ubwnp punhwbnip 1000
El :llll[u:liu; 151111111;1111 hrllllrlllldul]:]:ullh Uwljptu mubgnn hwpwyht ubth opjkljnh hunfwp hhtiq huipynip Akl g/

gpudhg Uhtiyh hwquip UkY gpud
Eouhwdht  plwlwjuypmd  26-hg uhisl 50 pwnwlniuh Ukwp
pughwimp dwlkpbu niikgny hwbpughit ubigh opjijinh hundwp’ 3000
hwqup Uky nputhg Uhgh  Epyme hwqup dky gpud. 12-py /kptp hwqup/
hnmpwsh 3-py  dwuh hunfwdwgh 2000 22 gpuad npnypwswthp
hwpywpyk) 1,5 gnpsuilgh Yhpumbundp
Nuithwwn  pufugupnid 26-hg vhigh 50 punwlnmuh  Ubkwnp 1500
pughwinip dwlpbu mukgnn hwbpught ubtinh opjijnh hunwp’ /hwquip hhig hwipynip/
hwqup Uty gpudhg thigh Ephynt hwqup Ukl ppuad.
Eouhwsht phwfwyuypmul 50-hg dhtsl 100 punwlniuh Ukwnp
punhwinip dwlbpbu niikgny hwbpuyghi uliinh opjkljinh hunfwp' 6000
tplynt hwquip Uk npunthg dhgh  snpu hwqup kY npund, 12-py kg hmqup/
hnpwsh 3-py  dwuh hudwdug 4000 22 gpund nnnypwsuthp
hwaquiply 1,5 gnpdulgh Yhpumiundp
Nuijthwwn  phwfujuypmd 50-hg dhish 100 pwnwljniuh dhmp‘ 4000
punhwimp dwljbpbu mbkgnn hwipughi uliih opjkljinh hunlwp Hi R
tpym hwquip Uy gpuithg dhiigh snpu hwquip Ukl ppud o 1
Eouhwdht phwlufuypnd 100-hg dhisl 200 puwnwlyniuh dkwp
punhwimp dwljbpbu mbkgnn hwipughi uliigh opljinh huntwp' 12000
snpu hwquip UEY nputhg Uhigh nip hwquip UkY ppund. /nuubikplim hwqup/
12-pn hnpwsh 3-py dwuh hwdwdug 8000 22, npud npnypuswthp
huipquiplyk) 1,5 gnpéuiygh Yhpumbundp
Nuitkhunn phwlwuypnud 100-hg Uhiish 200 pwnuljniuh dhmn 6000
plghwimp dwhtpbu nibikgny hwbpuyght utiinh opjkljinh hwdwp Aftig g
npu hwquip UkY npudhg dhiish nip hwquip Uk ppud.
Egdhm:&h li}lmll}lnqmmm: 200}-1].'1911 1[}11111211 ShOO pulmélllmuh ﬁhmn 22500
tunthwimp dwlbptu niikg whpughtt u opjiljinh hwdw
Eqa hwqup UkYy rlI;unIhg L[Il;l;lll wnuutthhug h:;:{hulpl:dkllll npund. i /puuwiibplm huquip hhiig
12-py  hnmpjwsh  3-py Uwuh  hudwdug 15000 22 ppud Tegep!
apnypusunhp hupquiplyly 1,5 gnpdurlgh Yhpwnduwdp
Nuijthun  phwlunjuypnid 200-hg uhtyh 500 punwyniuh lﬂlu‘lI} 12000
pughwinip dwhbpbu mikgny hwipuyhtt ubigh opjtyunp hudwp Anunatbplnt huqup/
mp hwquip UkY gpunthg dpiigh wwithhiq huquip Uy pud. I 4
Eguhwdht  phufjunfuypnud 500 b wkyh puwnwljniuh  dkwnp
pughwinip dwlbpbu mbkgnn hwbpughi uliigh opjljinh hundwp’ 37 500
wnuubhhtig hwqup Uy  gpundhg dhigh puwhhtig hwqup kY | /Epkunigne hwqup hhuq
npud. hupynip/
12-py  hnpjwsh  3-py Umuh  hwdwdwy 25000 22 ppud

nypusunhp hwapquiplky 1,5 gnpswhgh Yhpumbunip
Nujthwn  phwlwduypnid 500 U ufiih  pwnwlniuh  Ukwnp
pughwinip Ywltipbu mukgny hwbpughi uliigh opjliljnh hwlwp' 20000
wnuubhhiig hwqup Uy  gpunthg hish puwthhliq hwquip kY /puwit hwquip/
npud.

punupuyht  plhwlw]uypkpmd

11. | wjuqubn npnpUwlp
uwhdwi]ws wnlughl wunipph  bjuntudp  vwhdwil] wpnnimpmt' qpojuljui 0
YEunuuhubp wuwhbnt | npmypwiswihh Yhpunnuim] /qpnn/
poynynipjub hwiwp
opugniguyht wwpju  hudwp®
hhiq huiquip ypud.

1) wynhnjuyhtt uyhpwnp wupmbwympiniip dhigh 20 Swjwquyhi

. 2000

unnu wpuugpuitp guduqnnn  wpnwpht gniwqnh - hunfup et b
unjuquitint uwhuwiws Jupghi EpYnt hwquip ppud. Pl huquip/
L wuydwbbkpht ‘ 2) pntuy wiynhnjuyhtt (uyhpnh yupnibwynipinip 20 b wkjh 3500
hudwupwinuujumt hunlwyiph Sunjuiquhtt wnlnu) wpnugpubp qnjuqnnn wpnwpht gnjuqyph /pkp huquip hhtiq
Jupswlul tnwpwspnid hunfwp® kpkip hwquip hhiig hwpmp npud. hwipynip/
wpunupht qnjuqy nbqunpbine | 3) unghugulwb gaduiqnh hunfup qpn npud 0
Ppoypunynipyul hudwnp, /qpn/




pugunnipjudp phwljunjuyptph

uwhdwbkphg nmipu qutnnn 4) uy) wpwpht gnjuqnh hunfwp® hwqup hhiig hwpnip gpund. 1500
12. | ywhnwlub bpubwlnipjui / hwqup hhig hwipynip/
unjinnunphjughl REjnpnuught Eypwih dhgngnd wpinphtt qniuqy unbknupuohutint 2250
Subyyuphubph onwpuwh nwpnud 12-py hnpwsh 3-py  dwuh hudwdugh 1500 22 gpud /&pynt hwquip plym
2kpintpnid b yupnywhwuh nypusunthp hwpyuplly 1,5 gnpdwligh hhpundundp hwpynip hhumty/
qnunhubpnud nknunpyny 5) nuunupy gnjuqpuyhb Juhwbwlikph  hudwp huduyiph 375
qujuqyubph poynnipmitbph, Jupymfub wnwpwspnd  wy wpnwphtt  gnywqy nknunpbm /kpkp hwipynip
jmipupwitginip wdhu UkYy poyjuynipjui hunfwp uwhdwigws nnipph 25 %-h swithny. jnpuitiwuniihhlg/
punulnuh dtwnph huntup 6) kpt wpunwpht gnwqn wupwdny gnjuqnuihpp nbknupuphuly
U wwpudt) b php Yuquulipympjub  gnduqnp’ hurduryuph
150
Yupywlub  wwpwdpnd wy] wpnwpht  gnijwqry  nkpungpn
poypunipjut hunfwp vwhdwigws nnipph 10 %-h swihn: /hupynip hhumw/
Junuppuwuyuwn  hunfuyiph  fud
hudwjiph Yuqunud  phggpyus
Puwujuyph - junphpruithplitpp
(qhtwtipwip, wijwinuip) npuku
13. | opkupny qpuiigqus
wypubipuyhle ol ud 100 000
wwpwbpkph  wpnugpoipui opugniguiht mwpyu hudwp® hwpynip hwqup gpud. /hwuipmp hwqup/
Qud wpliunuipibiph
Junupdwl fud
Swnwjnipjniiibph - dmnmglwi
qnpdplipugutpnud, hywbu twl
dhpuuyght wifuinditpmd
oquuugnpskint  poynynipinit
npunfunplnt hudwp'
Jwnupouujun huluyiph
Jupswlub tnupuspnid
dwprunup-tnuwpunt
(pugunnipyundp tppniquht | poygpwswthp hwoyuplly 12-pn hnypjwish 2-py dwuh hudwdwgh 7 500
14. | wwpuhlbpp’ 0,75 qnpswiljgh Yhpundudp /mp hwqup hhiiq hwpynip/
Uhypnunfinnpniutitph)
Swnwynipinit  hpwlubwghbin
poynynipjul hulu'ulp‘
opwgniguihl wnwpnud
jnipupuitignin Ukipkugh
hudwp' nwup hwqup gpud.
Junupouwwwin hulwyuiph
Jupswlub wnupudpnid
punupwughwlul  hngkhwbquinh 500 000
15. | (hpwdtpwh) Shuwljuwwnwpnipyui opwgniguyhtt mwpijw hwdwp® hhiig hwipynip hwqup npundt /hhq hwpnip hwqup/
Swnwnipnitiikph
hpuuwbwgudwi L (qun)
dwnnigduh poynynipjul
hunfwp’
1) 3 hw-hg uhtsh 5 hw Jwhkpku niikgny ghpkquutunniikph 1250 000
hundwp tpynt Uhihnt hhtiq hupymp hwqup npud, npoypwswthp Aty thihot bphnt
hwpquplty 12-py hnpjwsh 2-py dwup hunfwdwyl 0,5 gnpdulgh hupymp hhuntt huqup/
Junupowujun hunlwjph | Yhpundwdp
Jupswluh nwpudpmy | 2) 5 hw-hg Uhish 7 hw Uuljtiptu nitkgnn ghpkquubwnibph 2500 000
16. | dwubuynp gipbquutunwt | hundwp hhig Uhhnt npud. gpoypwsunhp  hwpywplyly 12-pn /pynt dhjhnt hhig
Juquultpupdub U | hopjwsh 2-py dwuh hudwdugh 0,75 qnpduligh Yhpundunlp huipynip hwqup/
owhwgnpdiwl  poypunympuib | 3) 7 hw-hg dhtsh 10 hw vwlbpku nilikgng gipkquutnuntikph 3500 000
hunfup - opugmgughli wwplw | hunfwp' mp ot ppu. gpaypwsuthp - hwpduplly 12-pn /kntp Uhthnt hhtg
hunfup' hngqudh 2-pn dwuh hwdwdwyh 0,75 gnpduligh Yhpumtunip ‘ hwpymp hwquip/
4) 10 hw-hg wb] vwlbpku niikgnn gipkquubuintibph hunlwp 5 000 000
wnuu dhihnb npud, gpoypwsunhp hwoquplily 12-py hnnJuish 2-pg /hhtiq Uhghnty
Uwuh hunfwduy 0,75 gnpéubgh Yhpumbunp 4
Junuppuuin hunfuygiiph
Juipswlul nupwdpnid
17. | wkpuhuluwb b huwnny opugniguyjhtt nupyw hwdwp hhunih hwquiphg Uhiigh bptip 50 000 /hunt huquipy/
Lpwbwlnpjut hpunjwnnipynt hwpjmip hwqup gpud.
hpujwuglbint poyjnynipuh
hwdwp’
Eguhwdht  plwlunfuypnd Yupunlth, phulnntyh, penthph,
uwnibwgh, pngkpunihph b dkpudwh upwhh  (pugunnipjunip 20000
poiduljmb Ukpudwlb upwhikph) hwdwp opwgniguht mwpyw el /
18. | huniwyliph nwpwdpnud | hwdwp® hwdwybiph Jupswljub nwpwspnud nwup hwquiphg thigh et
uwhdwbwthubidwh Epwbw | puwbh hwawn 22 npud,




Suinuynipjul opjkljinp
gnpénitnmipjult  poyuyniput

Nuljthunn phwjufuypnd Jupunyth, phulnnblh, punihph,
uwnibugh, onghpunthph b dbpudwb upwhh  (pugunnpudp

hwdwp poiduljwb dkpudwb upwhikph) hwdwp’ opwgniguht nwpju /mmiloholg(c)lm o
hunfup® hunfuytiph Jupswljut nwpwspnid nwup hwquiphg thish
puwb hwquip 22 ppud,
Eouhwsht Ehuﬂ;ml{m}}{:nul hhumﬂ.luq.mpul]]lh mlln;dph huu[ulIII‘ 300 000
opwgniguyhtt mwupyu hwdwp' hwdwyiph Jupswljub nupuspny
hllilp?m[? h1]1111qu1plig£l jhhzh hphg hulp]nl.l’ll h&llc:lmppil lxipuld, it Fpeg bt p Resmpapy/
Quykhunn - phufuduypnid - hbunwgupught wynidph  hudwp 100 000
opwgniguihlt wpyu hwdwp' hunfugiph Jupsulwb tnwpuspnid /hupmip huaquip/
hwipymp hwquiphg dhigh bplip hwpymp hwqup 22 gpud,

19. | hunfuyiph nupudpnid

hwtpuihtt ubnh Swpwmpmnit

Uwnmgnn  whdwhg  udyuy

opfiwhin hupuljhg plnhwbop

oguriugnpéiwilt  mwpwsphtpmy

wdwnugh (Uughu 1- ) 10 000

hnllmhdllgzph 31-p ]illlh[l:mn]ml) hl? e e /inuu hwqup/

Auknuyht (unybdptiph 1-hg

wwphth  30-p Ukpunyuy)

ubqnbiibphtt  hwbpught  ubinh
Swnwynipjut  Yuquulkpydui
poypuynipyuis hwdup'

ZUUUBULRP NBUUd U

» |y N
W2 AN
3440307 »




Zu s 2

Zuununyus b

Zuquunubth Zwipuygbnnpyut Updwghph dupgh
Hwnupwwwn hufuyiiph wjwquim

2022 pywlubh nkljntdptph 28- h

Phy 165-U npnydudp

HUNUrcuUNUS ZUUUBLRNRY 20230, SE1UYUL YXULLVELP SEUUYLED

Ed M NR3RUUDELL
Uququint
Sk “Ipnypwsunhp . Eﬂm hlln;lﬁhg
uwljp uwhuwuuw
/uwhdwinjwd opkhipny/
npoypusurhbnp /22 gpuning/
2 3 +
JLUrver
Zufwybiph nwpwspmy pktiph Yud phtnipjuit 1) hwrnwpuljulu, -
wpunwpht wkupp thnthnjuny YEpujunnigdwi wpnunpuljuh % hlh ;
wpliunwplbp  junwpbime htn Juug]ws ohtmpymittikph hunfwp hunitt hwquip
nkjthjuntntuwlwt yupdubitp dpultn
u hwunuwntjnt hudwp’ hwdwyuph | 2) phwlth wwb & gpu
20000
dunnigus Swnuynipjniutkph nhuwug uyuuwnpuub /puwt huquip/
thnpuhunnmguwb J{wp. ohtmpmbtutph hudwp ¥ h
Swpunupuy bnwphbwpupuljwh "
twpiwgduyght i thwunwpnphpny l)hmumpmlluﬂl?: ’ 50 000
twrunntugwus 2httwpwpnipyut wpiauplju /hhum hwqup/
ohtmpmuubtph hunlwp
Ppoyjuynipnih wwhwgny, Pninp
2httwpupuljui wpluunnuiipliipt
hpujuiwughtimg hbwun’ oklipiph b
chumpjmbutbkph  (wpn  pyoul®  gpuibg
YEpulunnignudp, JEpulwigunudp,
nidtnugnudp, wpnhwlubugnudp, 2) plutlibh wb b gpw 20 000
punuyinidh m pupkijupgnuip) Yunniglwh uyuuwiplytul /puwitt hwqup/
wywpnp wupnului wrljunn ohtmpnibiikph hunlwp
thwunugpiubh A Epuydw hquulp‘
hudwjiph  dwnnigus Swnuympnitikph
nhuwg thnjuhwnnigdwb J§wp.
Swpnwpuybnwhtwpupuljui 1) huwwpuulju, 50 000
twjuwgduyht thuunwpenetpny wpnunpurlju /bhunit hmqup/
ohtmpmibiikph hunlwp
twprmnbu]wd wpiunwbpbbph wywpukimg
htwun owhwgnpsuwb poynynipjub
At bpupdwl hwdup' hwdwjiph  dwnnigus
Swnuymipimbtbtph  ghilwg thnjuhunnm gl
Y&wp
e
ohtmpinitiiph hunlwp L |
Uhtigl 100u? 5000
/hhuq hwqup/
hudwyiph nbophtmipjul oquuignpdiwl
ukppn quinjny hnnkpp hwwnljugutny, htwn 101- 1000 2 10 000
Ypgukint U Jupduluynipjul npudwnpbne /inwuu hwquip/
qhuptpnud thuwnwpnpph  (hwpkph)
twpwywinpuunmiut - hudwp® hulwyuph 1001 u2-10000 2 20.000
duinmgus dwnwympnibph nhiwg /pumitt hmquip/
thnjuhunmguwb Ygwp.
10001 U*-hg un]kjh 40.000
/punuruntt hwquip/
hurduyiph ynnuhg Juquultpupnn Ungnyputph 20.000
upgnypltph b w&nipyukph Umubmlgmpul | dwubulgmpjub hunfwp /puwt hwquip/
hwlwp hunluyiph dunnnigus Udnipnutiph
Swnuympinibibph  ghiwg  thnjuhunmgiut Uwutwlgnipjut hwdwp VRS o an]pll';/olIhllhulpllul]h U wipdtph
J&up.
hudwyliph Jupswlwub tnwpudpnid




nntwjudwnubpht (Jpuhuwdutipht)
dwubulglne huu[mp‘ hunduyjiph  dwinnmigus
dwnuympnitiittph  nhuiwg  hnjuhwinniguui

J&wp.

opuljut 1000
kY hwquip/

L.Eouhwshu
ptwfuuypnid pun
hwpjunwd whdwbg
pubwh’ huwluyipnid
wbdtwmgpughl 250
hwpqundwt Jubnbbpng /&pynt hwipynip hhumty
puwn hurugkh hwpqunnid
ntiignn b (fund) pwlyyng
nipwpwiginip piwlsh
hufwp wluwlui
hhuntihg uhtish snpu
hwpjmip Zuyuwunwbh
Zwtipuybinmpyub gpud

hunfwjiph  Ynnquhg wnpwhwinippui  Y&wp
J&wpnnukph hundwp wnpwhwbinipjub
wpluunnwbpibpp - Yuquulbpuybint  hudwp
wnputhwiini pyut J&wpp hudwyiph
wjuqubint Ynniuhg uwhdwignid k
«Unputhwiim pjut u uwthnwpuluh

1.1. Nuljthuwn
plwfujuypnid pun
hwpyun]us whdwmbg
pwbwyh hwduyupnid
whdbiwugpuyhl 150
hwpjundwl jubnbbbpny AEY hwpymp hhunly
puwn hwugkh hwpqunnd
nitikgnn U (Juid) pualyynn
jnipupwbgnip phwlysh
hwdwp’ wduwljub
hhunttthg Uhtish snpu
hwpjnip Zwyuuinwbh
Zwtipuyy i pyut gpud

Uwppuwl Uwuht» Zujuunwith
Zwbpuygtnnipul - opkpny  uwhdwijws
Jupgny b gpnypuisunhiph wwhdwbibpnud.

2. N1y pljlih byywinuluyhtt bywhwympyub 2Euphpnud b (Yud)
2himpmutibpnid wnpuhwimpyui y&wpp uwhdwynmy £ pun phtinipyut
pughwimp dwltptuh htnbyw npnygpwsuthbipng.

1) wnlunph, hwpught ubtigh b
Jkugunuyht Swnunipiniitkph

Uunnniguwl oklpkph b
ohimpmbttph dwuny Ukl 100
punwniuh Ukwnp dwljtptup /hwupynip/

hunfwp’ hhuntihg dhush
hwipjnip Zujuwunwbh
Zwiipuyybnmpjuh npud.

2) hmpuiinguyht
ntnkunipjub opjihntikph,
wpwbuynpunh pinp nhubph
Juyutibph (wjnnyuyubkph,
onubwjuljuyuttph,
Epupninuhl jupmpubitph),
hwhquinuib wbph, puquitkph 50

nt Swlpwipbibph, uynpnh /hhunit/
hudwp bwpiwinbugws skipkph
U phtmpmiitikph dwuny Uky
punwyniuh Ukwnp dwljtpkup
hunfwp’ puwithg Uhtish hhumi
Zujwuinwth Zwbpuyknnipyub
npu.

3) dhtwbuwljwh b Yuiwh
hunfwip twpwnbugws okpkph
L phimpymuttph dwuny kY 20
pumulll{u.uh Ubwnp dwltptup ik
hunfwp wnwubhhighg dhtigh PO
puwl Zujuunuth
Zwlipuy bnmpjub npud.

Hwpswhunu]upswljwh b
wnnngwwwhnipjub hwdwp
twhwnbudws oklipkph b
ohtnipmuttph dwuny kY 15
pwrwlniuh dknp duljtpkuh /inuuhhlg/
hunfuip’ nwutthhighg thiish
puwh Zujuwuinwith

Zwiipuiyg bnmpjuh gpud.

4) ghnufjul, Yppuub b 3




nuunilbwlut pwbhwlnipul,
unghuwjujut wyyuhnynmpjul,
Upulynyph, wpdtunp,
Ypnuwlwl, wuwonuniniipught,
punupughului
wupnyuinipju hwdwp
twhiwnbujwd okupkph b
ohtmipniiibph dwuny® UkYy
punwlniup Ukwnp dwykpkuh
hunfup’ kpkiphg Uhtish
wnwutthhliq Zujwuwnwbh
Zwiipuy bnnipjub gpud,

/eptp/

qnpuitingtikph dwuny Uy
pwnwlniuh Utnp dwlkptuh
hudwp nip Zuyuunuih
Zwipuy bnmpjub gpud.

/mip/

5) wptunpuljut’
wpyniwphpuub b
gniuninbuwljub
wpwhwynpjuil pkupph b
ohtimipnititph dwuny (uyy
pnud’ wjunnluyubunnknh)®
UkY punwilniuh dkwnp
dwljtipkuh hwdwp® hhiighg
Uhtish nwutthhiq Zuyumunwith
Zwipuy binmpjub gpud.

15
/inwmutthhug/

6)2htimpnitiipnud, npntn
hpwwugynud £ dklhg wth
wnwtdtugyus ninkuwuih
qnpdmbknipntl,
wnpwhwinipjub Ydupp
hwpquplynud £ jnipwpwitiynip
hunnwsh hudwp puwn wuyjuy
huwnjwdnid hpuljwtnugyny
qnpdniiknipjul mkuwlh,

hunfwdwyt uniyi dwuh 1-5-pn Yhnkpny
uwh'wijws npmypwsunhbph, pk
wnpwhwbnipyul Ydwp Jwnpkn
wupunwynpnipinit mikgny wbdp npu
Uwuht qpuiynp wnknkuginud £ hundwyiiph
nyunuphin’ Ygkiny tpdws hunnwstph
Uwljptulikph tpnuing uutalwi, huy
hunfuyiph nEYun]wphb snknkiugikn
ntwypmid hwpuplnud £ unyl dwuh 1-5-pn
Ytntpny vwhdwi]ws gpnypuswthng.

7) ohtmpmubtpnud (wyy pynud
wnwitdtugyus ninkuwmui
gnpéniitnipjut hundwp
twpwnbufws shtimpjnibiikph
wnwidht hunnjustitpnud),
npunkn nplk gnpéniitnipynit
Uptnuugbu Yud
dudwbwlun|npuygtu sh
hpuljwbwugynud,

wnpwhwbnipyub Y&wp sh hwpgupyyn,
Epk ohtumpniimd Upnnuybu Yud
dudwiwmfunpuytu nplk
qnpédnittnipinit shpuljwbwgtnu
YEpwpkpuy wnpuhwinipyub §wp
Ydwpkint wwpuunjnpnipnt niitkgnn
wbdp gpu dwuhb whnkugimd t
huwluyliph nkYunjwphi, hul hwduybiph
ntjujuphl ynbnkljughtin nkypnid
hwpquinlym £ uny dwuh 1-5-py
Ytntpny vwhdwin]ws gpnypuswthng

2.1.Ckupkphg b phtinipimubikphg nnipu quntny wnlunph b hwipuyhti ubthinh
opjkljintkph hwdwp

Swnwympnitiikph dunmgdwi
Juypbph dwuny vk
pwnwlniuh Ukinp dwljtptuh
hunfup hhuntihg dhtish
hwpynip Zuymunwth

Zwbipuy bnmpjub gpud:

50
/hhumiy/

2.2.Ckuupkphg b ghtinipymubikphg nnipu quninjny wnlnph b hwipught ubbigh
opjkjnttinh, Yhugunuyhb Swnuynipyniinkph dwnnigdwl Juypbpnid,

npunkn npuk gnpéniinipynit
Upinuugbu Jud
duldwbwlunnpuytu sh
hpuljutwugynud,

wnputhwbimipyut gwn sh hwpyuplnud,
tpk oklipkphg b phtmpyniikphg goipu
quin|nn wnlnph b hwpuyhh ubgh
opjinttkph, swnuympmbikph
Uwinniguwt Juyplipnud dpnmugbu ud
dulwwuynpuuybu nplk
qnpéniubnipinit shpuljwbwghbint
YEpwpkipyu) wnpwhwinipiui §wup
Y&wptint ywpuunpmpnt nitkgnn
wbdp ppw vwuhb nknEjuginad k
hwdwyuph nijwgwphb:

3. 013 YEbgumuihtt wnph hunfwp, htiswyybu twh ny pumltih mupwsphtph
YEpwipkpjur unyb hubyqush 7-py Yhwnh 2-py dwuh 1-5-pn Yhntpny
uwhtwinjwd npnypuswhbph htn withwiwawyinpyui nhupnid




wnpwhwinipjul Ydwpp vwhdwbynd £

pun quiiqyush Ukl nintim

wnph hwdwp nwup hwqup 10 000
Zwjuunwih Zubpuyknnipyuh /nwu hwquip /
npud.

hunfuwytiph Ynnuhg hpunwpwimlwi whawbg

Jul withunn dkntupluntpkpht

ehtwpupwlui b ingnp kqpuisunhh wnph

hwjupuwl b hnprugpiw, hgybu bwlb

wnpwthwinipyub J&wp J§wpnyikpht' 10 000

8. 2httwpuipuyjut b unpnp kqpuisuthh wnph pun quiqjush’ Uky wnbbw /nuu hwqup /
htpunipniytt hunjupiwt b thnjuwnpuwh wnph hudwp
poynynipyui hunfwp' wnpwhwiinipjut
Y&wpp hundwyiph wjwqubnt Ynnuhg
uwhtwinud  «Unpuhwbinipyub b
uwbhnwpulub vwpplub dwuhbs
Zujuunubih Zwbpuykinnigpyub opkupny
uwhuwiws Yupgm] b ngpnypusuthbph
uwhuwbikpnud
60l1)/d opuuymiygh 1000
9: nonquut oph dwnwwpuplwh - hwdwp | oguugnpdumi nhypmd dunlp Akl hwquip/
hunfuyiph Ynnuhg Yud hundwyiiph wunybpny 55/ opuuymluyh 900
duinmgyus Swnunipnibtkph nhiwg | ogquugnpduwh phupnid dundp /hup huipynip/
thinjuhwinmiguwh gnidwph swthny, 40lyy/d gpuynmlyh 700
oquuugnpéduiwl nhupnud dunlp /mp hwpynip/
hunfuyph Ynnuhg Yununjupinn
puquupbwmljuputt  pkupkph  pughwimp puwfupwih jmpupwibgnip Uky 17
10. | pudtughtt  ubthwljwimput  wWwhywinfwh pwnwniuph dkwnp pighwbmp /nuulynp/
wuwpununhp  npukph unwpdwi  hwdwp' Uwuljtptuh hwdwp, wluwljwi
hwdwyiph Ynnuhg fud hudwyiiph wuwnykpny
dwinmgyus Swnwynipniitikph nhuwg
thnjuhwinnigdwb gnudwiph swithng.
Eouhwsht phulju]uypnid 10 000
11. wduwljub /nwu hwqup/
Eouhwsht phurlju]uypnid
hwdwipuyht Euipuuynipjub | kpjupopyu Swnuynipinil 12 000
dwtljuuyupintqh Swnwnipinihg | vunnnigny hhutupynud (10,5 /nuuttkpym hwqup/
oquuinnitkph hwdwp' hudwjuph Ynnuhg Yud | dund) wlumljul
hunfwjuph wunytpny dunnnigqus Nuijthun phwljufuypnud 8000
Swnwmpnitibph nhiwg  thnphwinmgiwi wluwluh /mip huiquip/
gnulwph suthny. uy] huwdwybipiiphg, hsybu twb
Uk plwluduyphg Ry wy 20000
pwfujuyp  Jwnuprugun /pumtt hwquip/
hunfuyuiph Eipuljuynipjuh
nul  quifnn  dwbluwyupinkg
2NUY-ukp wighng kpkjuwibph
twuph hundwp
uy] hunfwylipibiphg, htyytu twb
Uky  phwlunjuyphg  uy  wy
phwlju]ugp Junuppuujun 25000
hunfuyuiph Eupuljuympyubh /pumthhiq hwqup/
wnul  quignn  Ephupopu
Sunwynipmbt dunamgny (10,5
dud) dwljuwwupunkq 20UY-
ubp  wglnn  Gpkjowikph
futiwdph hunfwip
1) <<Bnhpk Punlinuyuith 3000
wijwb ginuptunh nupngs> /Eptp hwqup/

2NUY-nud unynpnntph hudwp

wduwlub

2) «Uwljup Gydwuith wijuh phy 1 kpudonwlwl nupngs b «Uwhphyni

huwdwjipughte Eupwluympyut | Ukjhpjuih wi]uh phY 2 tpwdonulwb qupngs 20UY-ikpmd unynpnnkph
wpununuypnguljub juunhwpuynippul | hwdwp, wluwlwl’
hwunwnnipbikph (tpudonuljut, [wpuyht b wqquyht 3000
12, | bjupywlub b wpgkunp nupngutp b ul]]_h)‘ jwqupubikph pudhtiibp /kpkp hwiquip/
Swnwnipinitibphg  oquunnitph hulwp Epypnpn duubwghwnnieini 2500
hunfwyiph Ynnuhg Yud hunfuyiiph wunntpm] unwbuynt byunwlng /tpym hwquap hhig hwpymp/
Umnmgjus  dwnwympmbtbph  phfwg pupnmpulh puduh huntup
thnfuhunmguui gnuiwph swthng. uwhuwiily mpum'unLIa]nLh‘ 0
qpjuljuit gpoypwswihh /qpn/




Jhpwnniung

nuptwdnipuhtt b hpwnh 7000
pudht /mp hwqup /

Uyniu pnjnp pudhlitkp 6000

/g hwqup/
ginughnwulut qupqugdwt 10000
¢dny niunidiwnnipyut hwdwp /nwuu huquip/
LN,
1 opyuw, 1 yyupuyyunilip | 2000 /tpynt hwquip/

3-5 wupkljwt Epkjuwttph hudwp

1 wduw, 12 yupuudniiip | 12 000 /inwubikplynt hwquip/
13.
6-8 mwupkiwt kpkuwtph hwdwp
1 wduw, 12 wwpuuyuniip 8 000 /mip hwquip/
3 wduyw, 36 wwpwuyUniip 22 000 /pumbkplynt hmqup/
6 wluqu, 72 wyupuupdniiip 42 000 /punuuntitpyn hwquyp/
12 wludu, 144 wupwuuniip 80 000 /nipuntis hwquip/
8-12 mupklwh kpkluwbtph hwdwp
1 wduu, 12 wyupuyuniip 10 000 /nnuu hwquip/
huiduybgunhh Eifparipagm ppoh 3 wduwjw, 36 upupuuyiniiip 25 000 /pumithhiq hwqup/
wnuwunupnguljuh quunhupulnipjul
hwunwnnipjub (uynpnh nupngh) 6 wluw, 72 wwpwuyUniip 55 000 /hhunithhiq hwiquip/
Swnwynipiniitphg  oqunnutph  hundwp’
hunfuyliph ynmuthg Yunt huntugiph wundbpng 12 wduqu, 144 wpupuudniiip 100 000 /hwpynip hwqup/
dwnnigdud Sununipniik; g 12-16 nupkljut kpkjuwbtph hudw
gJ ] n it n I I
h Uwh gnud .
L atonisene vl s, i ! 1 wduqw, 12 wyupuuunibip 14 000 /inuuisnpu hwquip/
3 wdwjw, 36 upupuyyUniip 38 000 /kpkuntinmp hwqup/
6 wluyw, 72 wywpuugdni iip 75 000 /jnputiwium thhtiq hwqup/
12 wiuqw, 144 wyupuudniip 140 000 /hwipynt punwunth hwquip/
16 mupklwithg pupdp whawhg hudwp
1 wduw, 12 ywpwuunip 18000 Anuutinie hwquip/
3 wlu]w, 36 wyupuupdniiip 50000 /hhunits hwqup/
6 wlugu, 72 wwpuwupdniip 95000 /hutuntthhig hwmquip/
12 wnluu, 144 yywpwudnip 180000 /hwpynip nipuntt hwqup/
Utthunnulju wpwpwugunibipiiph hundwp /2-hg 3 Uiy
1 wluyuw, 12 ywpwuyuniip 40000 /punwunttt hmquip/
Unnngwljwt futinhplikp mubgnn kpkwibph pdpulughi wwpwuUnibpiph
hudwup
1 wluw, 12 yyupuuyuniiip 15000 Anmutthhig hwqup/
Unnnguljmtt  putinhpbp  mukgny  dkdwhwuwlibph Judpuljuyhta
wupwyuniiipibph hwdwp
1 wluw, 12 wupuuguniip 20000 /puwts hwquip/
hunfwytiph Jupswlwb nwpudpnid, uvwluyi
hunfwyiph puunjuyptphg goipu quntngng
14. | wjwquim npnpdwlp hwipught hwbquinh 20 000
Yuyp uvwhdwinfws b hunfuyiiph Yanuhg Yund /puwit hwquip/
hunfuyiph wumjkpn] npwyku hwbipught
hwiguinh Juyp juwhunnpyws nupuspnid
punwtkjut jud gnpdtwmfui Uhgnguinmuukp
wlighughtynt hufwp” hundwgiph dunnnigus
Sunuympnitiiph nhiwg hnjrhwnnigdwi
Jdup.
15. | hwdwjipwihl ubthwlwbinipint hwtinhuwgny
wununipjul b dpwlnyph whowpd
hnipwpdwltitiph b hudwiipuyghi 0
kipwljuynipjut puiqupmbttph Ununph /qpn/
hudwp hunlwjiph dunnnigus
dwnuynipnitiiph nhiwg thnpthunnigiwi
qnufwph surhnyg




huwdwjipuyhtt ubthwlwinipimb hmighuwgnn

pughwinip  oquugnpduwt thnyngutpnud L
hpuywpulitkpmu (puguempudp’ pufughi

wnwpwsplitph, numdtwlwb,  Yppujub,
Upwlimpuyhte b wnnnowuuthwljuil 0
16. | hwununmpnibbbph, whnuljub /qpn/
Jurujupdub b nbknujub
huptwljuwrujupdut dupdhbbph qupsmui
okiptiph hwpuljhg wnwpudpukph)
wnninpuiiuynpuught Uhongl
wjunnjujumntnnud - Juyubny hunIulp‘
«Udununpuiiuynpuught Uhongukph
Juywbwwintnph nbnujut Jdwph dwuhbs
Zwjmunwbh  Zwipuygbnnpub - opklpny
uwhdwijws npnypwywthph uwhdwhbtpnud
hwununynd & huwdugiph  wjuquim
Ynnuhg.
17. 1000
hwluyuph wpjuhyhg lhmumull?qphph /hwuquip/
wuwndbittp  wpudugpline - hwdwp kY dulljkinught Jud
thwunupneh hundwp dhbigh hwqup gpud yuylwbwgpujhtt ghtn]npufjub
thnjuhuwinnigdwt Y&wp. Swnwynipinil hpuljmbwugubn 0
dudwiuly gnhjwd fud /qpn/
Yhpunpjwd qhswnuynnukph
YJud ipwg hujuuwpgus
wbdwbg pinwithptiph hudwp
18. | huluwyupt  uwuwuwplynny — whwubwpnydh
Swnwynipinitbph nhiwg nknuiwh Y&wph 1500
npnypuisuth’ thnjuhunmguwi  gnudwph /Y huqup hhtiq hupymp/
gunhny
5 wpluwnwipuyhu 10 000 /inwu
opju pupwgpnid hwqup /
npulwnpbnt
1) hwuwpuwuyub, phypmy’
19. wpuunpuljub phtimpnibkph
Zudwjiph nwpwspmd  quinjny  whpupd hunlwip 3 wpliunnwbipuyha 15 000
qnyph hwugkh npudwunpuwb hudwp opju pipwgpnid /inuutihhliq
npudwnnpbnt hwdwp hwqup/
5 wpjuunnwipuyhle 7500 /inp huiquip
opju plupwgpnid hhtiq hwpjnip/
2) paljh nwlt b ppu npudwnplnt
uyuuwpliub ohtimpmbubph | ghypnud
hunfup 3 wphiunwipuygh 10000 /wnnura
opju phpwgpnid hwuqup /
wnpudwnpiim hudwp
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